
.16   -Степенуване на степен 

 

1зад. а)    
2

2 2 2 43 3 3 81    

б)   

2
3 6

1 1 1

2 2 64

    
          

 

в)    
2

2 40,1 0,1 0,0001   

г)     
2

2 40,2 0,2 0,0016 
 

2зад. 

 
5

2 10a a
  ,       

5
3 15a a

      ,         
10

10 100a a
 

 2 2
k

ka a 
   ,         

y
x x ya a 

 

 



3зад. 

4 6 12 20 242 2 2 2 2     

4зад. 

а)     
3

2 4 6 4 22 : 2 1 2 : 2 1 2 1 5       

б)     

2 4

3 2 3 2 2

6 49 6 7 7

7 12 7 2 6 24

 
 

    

в)     
  

 

 
4:2 1 33 2 5 1 35 5 5 125


 

    

г)      
2 2

10 10 8 2 10 8 2 2 2

2

4 5
5 4 : 20 :5 20 : 20 :5 20 :5 16

5


    

 

5зад. 

3 91000 10 ,           
5 10100 10  ,       

2 810000 10  ,     

5 25100000 10      

6зад. 

а)         k=18 

б)          
3

2 6 129 9 3 12k     

в)           
4

5 202 2 2 20 10k k      

г)         

6 2
1 1

3
2 2

k

k



   
     

   
 

 


